ERBRE —PEAMETEY EXIEA

b= it R AR E WEREE LEEERE

my: BEEEB REER gt @Rl PE AL FE (7 3K) (FF3K)
EHEZETERREER

1 bR ET R AR ZH &k A P 5 70% 16,224 35,097

2 ItrREs TN &k B B A Al 100% 173,352 93,747

3 ERFHARE—H afE F A ¥ 1 2 70% 16,300 3,138

bttt AR E — A 17,424 29,318

I RFEEBE 4,565 1,107

R XL RE 6,477 46,668

4 I RFERE—H &k A 22 il 2 70% 36,100 183,634

ERFERE 46,219 235,105

5 R ExRE—H afE SR 2 il 1h 3 70% 13,920 16,273

ERFRRE_HA 110,356 91,475

R RE _HB 38,176 144,294

It RMERKS 6 R7IEEE 41,063 160,891

IR EREHGHEH 5,300 43,113

R REmBE 9,935 72,208

6 It EBE a1k SR #2E l 1b 3 70% 20,672 125,655

IEEMER3 - 4FEEE 14,000 12,271

It mEMER 2R EEE 12,239 51,178

IR RE 380,528 1,589,807

7 IR ERE=H &k HE e 5 70% 101,894 29,497

8 REFZIEE—H SN B E Bt & 2 Al 100% 17,148 5,246

9 K F it R IEE — 5 &tk F A 1 2 60% 46,469 21,070

R RIEE — 8 5,014

10 R HIEI —H a1k HE [ 2 il 1 2 60% 72,800 2,457

REFERL=H 44,390

RAEF AT M 50,730

11 EEGRIEE—H =N e R IS 65% 37,600 10,412

EE S TEE 6,000 7,421

BEGRIEE=H 78,300 177,997

75 Fa 5 o 7€ B 0 EA 90,349 304,979

12 ES I AIEE —HIC a1k B BB A A) 90% 38,000 31,125

&5t RIEE — 8D 53,885 152,681

& 5t R IEE — 2 24,689 227,646

&G A TEE = 8 266,685 336,000

B S RIEE A a4 % B 995,606 2,216,382

54



x= [ BFE B IE Hitr TR

(7 3K) (7 3K) (75 3K) (7 3K) (75 3K) BRREE A &
30,606 2,557 1,934 =B34 AN iE A
88,220 5,527 =B34 AN iE A

877 2,261 =34 T iE A
2,712 26,606 EEK 20044 12 A
563 544 B &K 38 A

6,718 30,246 9,704 ERERS 20054 8 A

107,796 3,647 32,112 40,079 ZRERH 20054 12 A
103,699 16,751 57,241 57,414 HEH 1€
1,494 874 13,905 =374 58 A
15,087 76,388 EEK 20044 12 A

124,847 978 6,103 12,366 BRERS 2005410 A
104,724 15,406 40,761 HEP FE
8,661 25,492 8,960 HEF FE

9,579 42,037 20,592 HEF 3

32,000 58,941 34,714 HEF FE

643 11,628 EEK 3 A
18,831 6,270 10,832 15,245 HEP R E
861,200 188,500 88,000 452,107 HEH 5
7,565 7,463 14,469 EELY 2006 5 7
351 4,895 =B34 A~ iE A

580 5,062 15,428 =374 38 A
1,929 544 2,541 B &K AN iE A
1,600 857 B &K 3 A

39,769 831 3,790 ERS 2007464
44,574 6,156 HEF 1€
2,184 1,224 7,004 =B34 A~ iE A
7,421 B &R 2005 6 A
123,904 5,600 48,493 #FElHp 20074 12 A
183,862 9,117 112,000 HEP FE
14,356 16,769 EERK AN i A
128,816 23,865 B 2006%F 9 A
120,831 59,470 13,000 34,345 B 20064 12 A
306,000 30,000 & F FE
1,343,406 308,352 110,914 453,710 BEP R E
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HEHRHMAE — REAHMEEYEIEHAF
b= it R AR E WEREE LEEERE
my: BEEEB REER gt @Rl PE 1k R 25 (7 3K) (FF3K)
13 RNEEWRERE a& hg= AN 88% 9,800 14,509
RESHKRERNE_E 35,732
14 REFHARAKNE G- {El=ENG 100% 16,600 103,206
15 EBRILES =4 &1k HE [ 2 il 1 2 48% 16,171 133,101
16 EERAENHERIEER —H = Lop== NG| 70% 114,269 2,341
FEERFHRTRZH 536,880
17 RZEZNER—H &k NN 70% 57,200 2,191
O£ Z AR — 5 64,137 23,514
BOEZNER = H 61,668 26,663
RNEZHERBHBREH 265,277 124,823
18 BOZF R oL — 8 NGB E {SgEENG| 100% 37,235 85,755
19 RzEESEEMNE &k AP 2 60% 2,914,920 30,610
REFSBEEDH 16,333
RNEESFERERNHA 264,388
HESSEE/NHB 292,465
HERSEEEREH 1,643,000
20 REFMERE —H a1k H R 2R il 4 2 60% 96,427 15,250
RZEHERE 1,415
REMERE=H 99,118
U 2 R E M 118,284
21 F R R AL —H CR-) El=ENG 9R2% 11,219 10,994
T i AR = B 137,502
22 AR RIEE a1k F[E 2 il 2 60% 82,660 12,548
23 BMEREE = - =5 a1k o= 100% 74,720 24,241
J& M BR 3% 7E B 1Y A3 90,072
JE& M ER IR TE B H 8R % HA 38,922
24 BN B 5 3t RIEE — HA &1k {El=E NG 100% 99,885 57,723
BN R 7 Fritt BRI E — 5 48,437
BME R FHRIEE=H 93,237
JE& M B 75 3t SR B Y HR 103,337
25 &M S hE 3Tt R E S — HA &k Bt & A Al 91% 107,876 77,018
J& M L BE ¥t SR i — HR 123,881
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= (3 BFE B IE Hith aEE R
(7 3K) (7 3K) (75 3K) (7 3K) (75 3K) BRREE A &
9,759 4,750 =B34 A~ iE A
21,229 14,503 =34 i A
103,206 R ElHp 5
82,878 25,341 24,882 REH R E

579 1,762 B &K A3 A
317,500 4,000 26,500 52,000 136,880 HEH 1€
1,302 889 =B34 2005 6 A
23,514 BRERH 2006%F 3 A
26,663 ZRERSP 20065 9 A
115,895 8,928 HEP HE
85,755 ERERS 2005%F 12 A
3,513 27,097 =B34 A~ iE A
2,676 13,657 =B34 2005 6 A

215,848 7,000 41,540 R 20074 107
265,450 27,015 FEP R E
1,643,000 #HElH G
10,154 5,096 B &K AN i
515 900 =B34 2005 5 7
83,410 1,092 14,616 ZRS 2006F 6 A
105,301 3,535 9,448 Bl 2007412 A
1,872 1,762 7,360 -39 AN iE A
36,628 41,206 35,875 23,793 BRERSP 2005412 A
219 12,329 EE K A~ i A
7,336 16,905 =B34 A~ iE A

73,344 2,335 14,393 ERHp 20064 11 A
23,057 2,614 13,251 & F =E
7,255 2,195 48,273 B &K AN iE A
37,790 10,647 HEP R E
82,963 10,274 HEH FE
80,381 22,956 & F 3
46,027 30,991 EE K AN iE A
98,534 2,844 22,503 & F FE
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HHBAMA —PEAMETEYXREHR

b= it R AR E WEREE LEEERE
my: BEEEB REER a5 E Rl PE 1k R 25 (7 3K) (FF3K)
26 &N % % RE B — R &k HE 5 60% 370,383 2,828
BN 3% pE B — HIA 39,228
B 3% % B B — HAB 47,740
&N R % B2 B/ = B A 307,770
& 3% % R B = HAB 396,298
F& M 3% % Bz B U R 290,988
&M 3 % B2 B T 2R 164,333
27 FE N 155 A0 o 37 it 5 — ER afE F R 1 2 40% 44,516 9,305
BE N #5350 o 37 it R — A7 53,075
28 BMNEmit ARE —HA G 1E FhE) 1 1 2 60% 1,153,493 3,473
BNt RRE = HB1 70,439
BMEmFt RRE ZHC 123,704
FEMEmITtH RRE D1 7,988
BN Em i RRE ZHD2 25,789
BMNEmtt ARE K H %S 204,474
BN g& F Tt AR E — HiB2 a1k Bt 8 2 7 100% 7,865
FE& ) 28 B 3Tt SRR B E #R & A 1,027,922
29 J& I 3 9 7t S IE B — HR afE A 2 5 60% 348,774 9,480
J& I 3 9 St SR IE B — B 11,868
J& I 3 9 3t SR E B = HR 74,071
JE& 3B U 3t SR AE (R 7Y HR 271,012
J& 3B 3 T R AE B E 4 % A 15,212
30 AU EENERIER a1k F R 22 il 2 70% 58,132 29,180
31 YN R EILER —H &k B BB A A 90% 25,600 5,324
RYIE R L TEE —HA 31,500 27,846
Y R fE L TEE —HiB 12,769
RYIFT T R EILTEE —HAC 5,348
WY AL TEE = H 32,200 125,635
32 Bt RAemzREF L8 &1 /N 35% 14,171 19,482
JEEFtRAemREFL=Z20H 66,670
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= (3 BFE B IE Hith aEE R
(7 3K) (7 3K) (75 3K) (7 3K) (75 3K) BRREE A &
124 2,704 =B34 A~ iE A
21,318 17,910 B &R 2005 4 A
40,234 7,506 BRERS 20055 9 A
269,185 10,715 27,870 HEP R E
332,466 14,502 49,330 HEH FE
243,428 7,286 40,274 HEF 3
142,328 9,045 12,960 HEF 3
2,841 6,464 =374 58 A
38,279 2,040 12,756 ZRES 20065 6 A
1,723 1,750 B &K 3 A

24,157 370 45,912 B &K 2005454
92,730 3,832 27,142 EEGY 20054 12 A
5,513 2,475 B &R 2005 4 7
20,777 1,244 3,768 R F 20064 1 A
147,575 23,394 33,505 HEP FE
6,760 1,105 BRESP 2005412 A
741,884 117,604 168,434 HEH FE
3,999 5,481 =B34 A~ iE A
11,868 B &R 2004411 A
70,021 2,967 1,083 R AF 200549 A4
247,423 6,292 17,297 HEP G
15,212 HEP G

23,800 3,700 1,680 HEH FE
3,296 2,028 B AR i@ A
18,584 9,262 B &R 2004F 8 A
3,559 3,061 6,149 R F 20054 12 A
3,797 1,551 HEP R E
91,586 34,049 HEH R
19,482 B &K AN i A
66,670 B 3
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HEHRHMAE — REAHMEEYEIEHAF
b= it R AR E WEREE LEEERE
wm¥ EEE® REER gt @Rl PE 1k R 25 (7 3K) (FFK)
33 B 5 FR 18 & Resort— Hf a & R 2 1 2 34% 264,485 6,486
E5 AR EResort— «~ = HA 148
=[5 548 & Resortl 8§ 7,642
=[5 45 18 B Resort £ #4 - A7 233,545
34 EEtt RAIEE—H a1E /N 40% 139,134 14,769
EENT AR 62,935
EENTAEER=H 150,435
55 BB 3ttt RIE B Y A7 67,841
35 WEFtBEEE—H IEBEE Bt B A Al 100% 21,604 3,684
gt B EEE —H 19,400 12,729
et R EIEE =M 50,019 86,227
TRt S8 B E B 1 H 45,227 76,886
36 BEMEHBEENEZHA afE F R b % 63% 50,436 63,440
BMEBIEE)E_HB 30,955 74,930
37 & 0 it R E — A &1k F A 1% 60% 246,800 5,888
O RIEE —H 80,787
O AR = 124,265
INaEE 9,769,168 15,475,269
BH it R E wEREE HAEEEE
wmyx HEEERW RERR a2t &R PE 5 #E 2 (7 3K) (FFHK)
BRIREWE
38 BOERH A E NE — B G- Bt B A Al 100% 27,597 60,366
18a O AP0 ZHA SNE BB Bt A Al 100% 37,235 153,724
14a REFHRKNE & {hl=E/NG| 100% 16,600 76,390
25a F& N S| jE 3t SR B 35 — HAB &k B B A A 91% 107,876 77,201
INaEE 367,681
H B it R E WHEEE LAEEHEE
wmyx HEEERW RERR a2t &R PE 5 7 2 (7 3K) (FFHK)
BRERPBEWE
18b EOEFTHH R0 ZHiB a1k F A 1 1 2 60% 37,235 37,432
14b REFHRKNE a5 [{SgEENG| 100% 16,600 35,570
INaEE 73,002

60



= (3 BFE B IE Hith aEE R
(7 3K) (7 3K) (5 K) (7 3K) (75 3K) BRREE A &
4,826 1,660 =B34 A~ iE A
148 =34 i A
3,277 4,365 B &K 3 A
197,806 7,939 27,800 & R E
2,966 11,803 B &K A3 A
58,445 4,490 ZRSp 20064 12 A
150,435 HEH £
65,141 2,700 B 5
907 1,093 1,684 B &K 3 A
11,898 437 394 B &K 20054 5 A
81,340 1,684 3,203 R EF F1E
74,964 1,922 HEH €
49,123 1,963 12,354 B &R 2005% 6 A
60,894 3,566 10,470 B 2007 11
2,235 3,653 B &K 5 A
80,217 570 #HElH 20064 5 A
122,515 1,750 & 20074 10 A

10,952,330 1,013,210 643,616 86,940 2,779,173
x= [EE3 BEFE B JE Hth A ER
(75 3K) (FFHK) (FFXK) (FFXK) (FFXK) RREE B
60,366 R 20054 12 A
43,492 74,010 36,222 BERAP 20059 12 A
42,870 33,520 e fF3E
34,210 16,832 26,159 R F 20064F 34

34,210 103,194 134,376 — 95,901
= [EE 3 BEFE B & Hith A ER
(75 3K) (FFHK) (FFXK) (FFXK) (FFXK) RREE B
37,432 R 20054 12 A
35,570 & fF3E

— — — 73,002 —
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HEHRHMAE — REAHMEEYEIEHAF
b= it R AR E WEREE LEEERE
wm¥ EEE® REER a5 E Rl PE 1k R 25 (7 3K) (FF3K)
EERREWEER
39 36 Rt SR AR — A &k A P 5 70% 19,533 134,294
1a Jb Rt SR AR — B aE R 2 5 70% 16,224 101,903
3a ERFHARE—H afE F R 4 1 2 70% 28,265 34,601
7a IERHERE = - =5 &1k FE [ 2 il 1 2 70% 101,894 22,570
40 REFMRES INE BB {El=E NG 100% 19,386 101,746
10a REFAEE 8 a1k H A 22 il 1 2 60% 72,800 16,802
13a NEFTHE R ES — 5 aA& hp= A 88% 9,800 69,196
41 EEREAFHRRE a1k /N 44% 9,953 136,419
42 FBEXERYS 1 [ ilEENG 65% 9,084 20,231
42a FEREEBRBEALE & 1 -l /NE| 50% 54,883
19a RESSEE—Z M &1k Fh A 4 1 2 60% 2,914,920 56,426
20a REFMERE—H a1k FE[E 2 il 2 60% 96,427 46,480
38a RZEHttREERNE a& hp= A 95% 3,806 9,963
38b REFHAEERNE —EA & B B A A 100% 27,597 61,590
24a BN R 5 3Tt RIEE —HA afE {ElEENG| 100% 99,885 18,889
32a Bt ReEzRE O—H8  A1E R NEC] 35% 14,171 51,770
NEE 937,763
BH it R E WRHEE LEEEE
m¥ HEEE® REER 25 E Rl FE 1k RE 25 (7 3K) (FF3K)
EERBEYNEER
43 ErEtt A& REE &k F[A 2 il 5 55% TiE A 23,988
(5F Adb
R
— )
44 & 5t FUB TR & {hg=E/NG| 100% 7,847 34,535
45 JIE 72 5 - R & el I &k e/ 33% 4,508 36,524
46 EEBERERKNEE &/ &8 B B A 7 65% 10,883 58,011
INEE 153,058
et 17,006,773
AfE: AEARLE
AB:ABABLE
B HEBELE
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T= [GES BErE B & Hitb
(75 K) (75 3K) (75 K) (75 K) (75 K)
4,773 74,232 26,081 29,208
28,246 46,378 27,279
8,748 25,853
22,570
82,022 9,540 10,184
16,802
49,413 19,783
41,989 80,068 14,362
12,805 7,426
39,358 9,597 5,928
56,426
36,069 10,411
9,963
44,190 17,400
18,889
35,821 15,949
72,377 480,443 178,590 — 206,353
e [GES BrE B JE Hit
(75 K) (75 3K) (75 K) (75 K) (75 K)
23,988
34,535
36,524
58,011
— — — 153,058 —
11,058,917 1,596,847 956,582 313,000 3,081,427
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